"% o f EEEH I R AR5 S B ER
B AR P 111.10.5 10:00 B g AR rks B EHRE
e pERy 111.9.26 A AR SRR
2R 2,750, 000 50, 000
LRI TR 2,755, 000 /50000 2 =
FE AR E
(& tan B T 52 40 32 10%) 3, 030, 500 /50000 2 =
* 7| ~ r&iﬂ;#%%fﬁJ Py
B R
FAZE T EAEIUE ) S RE - A
B R (81 Tt e 2,755, 000 /50000 2 =g
BT
@ L - 121 AR 2 23 s
" P e A i pA | mwiks wa e
J|(AAH pEF P 2,765, 000 1 2,765,000 | 1
1 [Feprg gmpgans 2,755, 000 2 2,755,000 | 2
2 | @Rt LR 2,750, 000 3 2,755,000 | 3
B G T U SN T L TR LR A
4ﬂ?m* TR 2,750, 000 4 2,755,000 | 4
AR R

(=) BEERERIAE (55 20) -

(Z) PR > PR e PIRFR2 ABERI R ATE 5 6 k-
(Z) 2o B ARF IR g ToE R g A2t 3 Thoggdy ) 23+
kﬁ*méﬁ’ﬁ%ﬁﬁﬂpﬁ%ar&@#%ﬁj°u%kﬁi” g v
2 ERBEF B 2 T L TR

AU (2T AL UE)
LA AR R E B (dF T %)

(w)&%%%*r&ﬁﬁﬁﬁjﬁ’u@%ﬁ%ﬁ AR T RHPHEE Y F DM EAATIREA L HK
ﬁ@Wﬁ~F&miﬁwJ 7@ﬁ%ﬁ¢7—u%7d*iAﬁijﬁigﬁ&%%kfszr&@LﬁmJ?%
WAL > Tk H AR rg_;_l’&lz:ﬁj—huff""?ﬁ* A E A2 @fxff»%"ﬁﬁ’;q;"gg"°




